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ROUGH WORK



Time : 2 Hours

No. of Questions : 50

Full Marks : 200

Note: (1) This Question Booklet contains 40 Multiple Choice Questions

i 5 I

02.

03.

followed by 10 Short Answer Questions.

(2)  Attempt as many MCQs as you can. Each MCQ carries 3 (Three)
marks. 1 (One) mark will be deducted for each incorrect answer.
Zero mark will be awarded for each unattempted question. If
more than one alternative answers of MCQs seem to be
approximate to the correct answer, choose the closest one.

(3) Answer only 5 Short Answer Questions. Each question carries
16 (Sixteen) marks and should be answered in 150-200 words.
Blank 5 (Five) pages attached with this booklet shall only be
used for the purpose. Answer each question on separate page,
after writing Question No.

Which of the following is pluripotent cell
(I) Stem cell (2) Sertoli cells

(3) Memory t cells (4) Langerhans cells

Which of the following is NOT a lymphoid organ
(1) Lympnodes (2) Tonsils
(3) Thyroid (4) Spleen

Enzymes for kreb cycle are located in ]
(1) Mitochondria (2) Cytoplasm
(3) Peroxisomes (4) Nucleus

Which of the following is a non communicable disease
(1) HIV (2) Tuberculosis
(3) Measles (4) Tetanus

3 P.T.O.
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Which of the following is NOT a part of immune sysiem of the body ?
(1) Langerhans cells (2) Helper T cells
(3) Histiocytes (4) Reticulocytes

Ovulation occurs at

(1) 5" day of menstrual cycle
(2) 14" day of menstrual cycle
(3) 21 day of menstrual cycle

(4) 28" day of menstrual cycle

Amount of growth hormone secretion reach its peak by
(1) 8am (2) 8 pm
(3) 12 am (4) 12 pm

Which of the following is false ?

(1) Bones are attached to other bones by means of tendon

(2) Bones are attached to muscles by means ligaments

(3) Bones are joined to other bones by mean of articular cartilage

(4) Bones are joint to each other by mean of fibrous tissue

Regulators of thirst and hunger centre is present in
(1) Medulla (2) Midbrain
(3) Hypothalamus (4) Cortex

Which of the following is NOT included in the stages of embryological
development ?

(1) Insemination (2) Gastrulation

(3) Blastula formation (4) Morula formation
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WHO recommended method of sampling to estimate immunization
coverage in developing countries is :

(1) Simple random sampling

(2) Stratified random sampling
(3) 30 cluster random sampling
(4) Multi-stage random sampling

Standard deviation measures :
(I) Central value (2) Locations other than central
(3) Dispersion (4) Distribution

In a normal (Gaussian) curve, the area between 2 SD from mean on
either side is :

(1) 68% (2) 90% (3) 95% (4) 99%

If mean, median and mode are 18,22 and 30 respectively, the
distribution is :

(I) Symmetrical

(2) Skewed

(3) Can be symmetric, can be skewed

(4) Cannot be decided

For a Gaussian distribution all of the following are true except :
(1) Mean median and mode are same (2) It can have two modes
(3) Bell shaped

(4) Mean + 2Sd includes nearly 95% observation

The range of correlation coefficient is :
(1) Between 0 and +1 (2) Between -1 to +1
(3) Between -1 to 0 (4) Between - to +oo

5 P.T.O.
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In a study of 30 patients of liver cirrhosis, enzyme level was evaluated
before and after the treatment. The test of significance would be :

(1) Paired t test (2) Unpaired t test
(3) Chi square test (4) McNemar test

If two samples are drawn from two non Gaussian population, to test
that the two population’s distribution is similar or different, one should

apply :
(1) Unpaired t test (2) Wilcoxon sign rank test
(3) Mann Whitney test (4) None of the above

There are gaps in our knowledge about natural history of chronic
diseases. Following is not a good example of the gap in knowledge

(1) Absence of known agent (2) Multifunctional causation
(3) Short incubation period (4) Long latent period

One of the following strategies does not come under primordial
prevention of CHD

(1) High risk strategy (2) Specific advice
(3) Coronary surgery (4) General advice on diet

Following is the non-modifiable risk factor for hypertension
(1) Saturated fat intake (2) Age
(3) Saltintake (4) Weigh

A type Il diabetic person must do one of the following :
(1) Alcohol intake daily for mental peace

(2) Regular physical exercise

(3) Eat fruit daily like banana and oranges

(4) Must avoid dietary fiber in the diet
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One of the following indicators is not useful to assess obesity
(1) Quetelet’s index (2) Brocca index
(3) Container index (4) Corpulence index

The number of deaths (from all causes) per 1000 estimated mid-year
population in one year. In a given place is called as

(1) Annual Risk of Dying (2) Case fertility rate
(3) Disease specific mortality rate
(4) Death ratio

Following formula gives correct estimation
(1) Incidence = Prevalencexduration

(2) Prevalence = incidence/duration

(3) Incidence = Prvealence/duration

(4) Prevalence = Duration / Incidence

The following does not come under the study of epidemiology :
(1) Unit of study is a defined population |

(2)  Unit of study is a clinical case

(3)  Unit of study is population at risk

(4) Itis study of both at risk & healthy

A man weighing 65 kg consumes 325 gm carbohydrate, 65 gm protein
and 35 gm fats in his diet, the most applicable statement is :

(1) His total calorie intake is 3000 Kcal
(2) He is in negative energy balance
(3) 30% of total energy is derived from fat

(4) The proportion of protein, fats and carbohydrate is correct and in
accordance with a balance diet

7 P.T.O.
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All are water born disease, except
(1) Leptospirosis (2) Schistosomiosis
(3) Fish tape Worm (4) Brucellosis

Best test to detect iron deficiency in community is:
(I) Serum Transferrin (2) Serum Ferritin
(3) Serum Iron (4) Haemoglobin

Active principal of Lathyrus Sativus is
(1) Sanguinarine (2) Pyrrolizidine
(3) BOAA (4) Jhunjhunia

All are clinical features of epidemic dropsy except:
(1) Glaucoma (2) CHF
(3) Convuslsions (4) Diarrhoea

All is true about malaria except:

(1) Infant parasite index is a poor index for assessment for
transmission of malaria in the community

(2) Vector for transmission is Anopheles mosquito
(3) New born are resistant to P. falciparum infection

(4) A culicifacies is common in rural areas

Scrub typhus is transmitted by

(1) Mite (2) Louse

(3) Flea (4) Tick

Which of the following arboviral infection is not prevalent in India?
(1) Dengue fever (2) West Nile fever

(3) Yellow fever (4) Chikungunya



35.

36.

37.

38.

39.

658 /Community Medicine

Vegetable fat differs from animal fat in being
(1) More saturated

(2) More Stable

(3) More atherosclerotic

(4) Contains less fat soluble vitamins

In calculating Dependency ratio, the numerator is expressed as-
(1) Population under 10 years and 60 and above
(2) Population under 15 years and 60 and above
(3) Population under 10 years and 65 and above
(4) Population under 15 years and 65 and above

Ideal Contraceptive for lactating women:
(I) POP (2) IUCD
(3) Lactational amenorrhoea (4) Barrier methods

The extra energy allowances needed per day during pregnancy is:
(1) 150K Cals (2) 200K Cals
(3) 350K Cals (4) 550K Cals

Leading Cause of maternal deaths in India is:
(I) Anemia (2) Haemorrhage
(3) Sepsis (4) Obstructed labour

The uppermost line of the ‘rode to health card’ is equivalent to:
(1) 80% for boys (2) 50% for girls
(3) S0™ percentile for boys (4) 3 percentile for girls

9 P.T.O.
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Short Answer Questions

Note : Attempt any five questions. Write answer in 150-200 words. Each

01.

02.

03.

05.

06.

07.

08.

09.

10.

question carries 16 marks. Answer each question on separate page,
after writing Question Number.

Briefly describe the measures of Central Tendency and Measures of
Dispersion.

Name different probability sampling and de scribe the stratified sampling
procedure.

describe in brief test of significance Define parametric and non-
parametric tests and write the condition when are these applied?

Write difference between endemic and epidemic.

What is the WHO criterion of blindness? Mention important causes of
blindness.

Discuss different methods of diet survey.

Mention the objective, beneficiaries and programme contents of
Integrated Child Development Scheme.

Enumerate food toxins. Give a brief account of clinical manifestations
and prevention of any one of them.

Briefly discuss on National Iron Plus Initiative.

Briefly discuss on Home based New born Care.

10 100
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